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3anaua E. Tpu Tpubrpinnka

Hanenu ca ase uenu yucia P u Q. Hanumiere nmporpama KoATo M34epTaBa ChC 3HaKa 3Be3/a
(**') dwurypa, cbcrosiia ce OT JBa paBHOOSAPCHH TPUBIBIHHKA ¢ Oenpa oT 1mo P 3Be3au u enuH
paBHOOEIPEH TPUBI'BIHUK ¢ Oespa oT 1o Q 3Be3H, JIeXkall MEeXAy APYruTe JBa, KaKTO € IOKAa3aHo B
npuMepHusi u3xon. /[Bata TpubrbiHUKa ¢ Oeapa ¢ ObKMHA P jexaT Ha OCHOBHUTE CH, KOUTO Ce
HaMupar B CAUH PCA, a 3BC3JaTa B ACCHUA Kpaﬁ Ha OCHOBATa Ha JICBHUA TPUBI'BJIHUK CbBIIAAa CbC
3Be3/laTa B JIEBUS Kpail Ha OCHOBAaTa Ha JIECHUS TPUBI'BIHUK. TPUBIBIHUKBT ¢ Oepa ¢ AbbkuHa Q e
,»CIIyCHAT", C BbpXa CpeEIly OCHOBATA HAJ0NY, B MEKJMHATA MEXKIY J1BaTa JAPYyTrd TPUBI'bIHUKA TAKa,
4ye 3Be37aTa BbB BbpXa My ChbBMajaa ¢ oOllara 3Be3fa Ha JpYruTe JiBa TPUBI'BIHUKA, a Oeapara my
CBBIIAABT C 6eapaTa Ha JPYruTe ABa TPUBI'bJIHUMKA TaM, KbACTO CC OIMUpAaT CAUH B APYT.

Bxoa: Ha mbpBHs peq Ha cTaHTApTHUS BXOJ Ie ObJE 3a7a/icH OposT Ha TECTOBETE. 32 BCEKHU
TECT, Ha €AMHCTBEH PeJI Ha CTaHJIapTHUS BX0J ca 3amanenu yucnara P u Q, 3 <P, Q < 80.

M3xon: 3a Bcekm TECTOB MpUMeEp, MporpamMara TpsSOBa Ja W3BEIE HA CTAaHAAPTHHUS H3XOJ

uckanara ¢urypa. Haii-neBure 3nanu '* ' Ha ¢urypara TpsOBa Ja ce HaMUpaT B MbpBa MO3UIMS Ha
CbOTBETHUS Pe/l.

IIpumep
Bxopx H3xon
l R b b i b b b b b e
4 6 * *
* *
* % * %
* * % *
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Task E. Three triangles

For given two integers P and Q write a program to draw with the character asterisk ('*') a
figure, composed of two isosceles triangles with legs of P asterisks and one isosceles triangle with legs
of Q asterisks, laying between the first two as it is shown in the Example output. The two isosceles
triangles with legs of length P lie on their bases, placed in a line in such a way that the asterisk in the
right side of the base of the left triangle coincides with the asterisk in the left side of the right triangle.
The triangle with legs of length Q is ,,dropped*, with the vertex opposite of the base down, in the space
between the two others in such a way, that the asterisk of its vertex coincides with the common
asterisk of the two other triangles and its legs coincide with the legs of the two others where they touch
each other.

Input: The first line of the standard input will contain the number of the test cases. For each test
the numbers P and Q are given on a separate line, 3 <P, Q < 80.

Output: For each test case the program has to print on the standard output the asked figure.
Leftmost asterisks of the figure have to be in the first position of the corresponding line of the output.

Example
Input Output
1 * Kk ok Kk ok ok k ok ok ok ok
4 6 * *
* *
* % * %
* * % *
* ko Kk ok k ok ok ok ok ok ok ok
?= .\ A-p Bnagumup
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